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Q%lz 0)- Which of the following statements is true and which is false:

£ 1 2 IfA is an nxn maitn
tnix i
otatogili and the system AX=0 has a nontrivial solution then A is

_TQK.Z- If A and B ar ' : :
e :c nxn @amces and AB is nonsingular then both A and B are

Faloe. 3-1f A is 4x4 matrix then |-4] = |4

Yok
9—}7454- If A is 3x3 matrix and A=-4" then 4 is singular J\ i{ ot

e&\%- The product of two symmetric nin matrives is Syrnelric .
TC4L6-If A is a nonsingular matrix then the matrix AT is nonsingular also.

Fﬂl&t?- Any non homogenous system of linear equaticns that has 2
have infinite number of solutions.

nontrivial solution must
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ﬁﬂ]sg 9. If A and B are 2x2 matrices such that A B=0 then A=0 or B=0.
i (1. 0s:03 g o 0
Tfue10-1f 4=|0 1 0| then 4 1=l g 1 0
p bsin i1 =y
. . ¢ ! iy i
Trugl1-If A, B are 3x3 matric s with |A|= 4 ,|Bj=>5 then \ZA B\-IO
-; § AR
' A

s 7)1 5 | 1
. -] ¢

it =1 3 4 \m%ntgggigglfngot 475 3
i A 3

o }u
A R,

!’

IR



R ———e
Nt S T e

B 3-1f the m /

1 the coefficient ' B
T atrix of the system AX=h 18 A={0 -1 1}
-—M 0 4 i

Th
en the system must have a unique solution

Wtug14- Any nonsingular manr |
elementary matrices. X can be written as  produst of

%kﬂl 5-The product of two clcmentary. matrices is elementary

TM16- |AB!=|BA|forany two nxn matrices A and B /
InL 1) = (B Al

Question #2(30%): Circle the correct answer:

‘B b e 2a 2b 2
1- IfA=|d e f|,and|A|=6,and B= 4g 4h 4 |then {B| = 4z
2w 1 —d —e --f =
4 g \“\ - %6
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2- If A, B are two n xn matrices then \f\\\R\
@ det(4B™)=det(4B)»  |A\ BN =
b) det(ad)=ardet(4) x 7 {AY
o) det(4+ B) =det(4)+det(B) X 3
l‘-";
3—- IfAX=Db has[gg_solut;& where A is an nxn matrix and b is an nx1 matrix then :
b-A is nonsingular .

a- A 1s row ci1uvalent Byl s
c- A is a product of elementary matrices. li:v,f : AX 0 has infinitely many solutions,

ax + y =

4 — T:he conditions on a,b such that the system 0 o= ( VU \Q:?'
has infinite number of solution is q 7 \_/
b) a#2 and b=l ,.

(@)a=2 and b=
¢c) a=2 and b#1l d) a=2 and b#l Um\u
Y
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{..— 5-If Aand B arenxn nonsingular matrices then : § i \

G4+ =4 +B
d- |ocd| =4 ¥

(AB)’ =4"B" g
e =A'B" ¥ B—! A
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" 6-IfAis a0l NXn nonsingy
a) 4 is row €quavalent to th
b)AX = ]

)AXT b has a tiuque solution for every nx]
¢) 4 is a product of elententary matrices
= 0 has a nontrivial solution .

7- Asystem of linear equations AX=
has |

la.r matrix then one of the following is false -
€ identity matrix Iy

matrix b

A N
b Cnsisting of tw‘g equations in four unknowns

-
a unique solution '
b) Infinite number of solutions
¢) No solution.
@Inﬁnjte number of sclutions or no solution.
151
8 — the values of a for which the matrix A=| 0 a 5| is singular is
' - 0.0
@3 b) {0,2} q\‘ ‘\ sa(S5—N 50
c) {2,5} d) {5} a 5 5
A=0 4 A%
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9 —If Ais 3x3 matrix suchthat A. |0 [=| 0 | then
- SRR i 1oel.0
. b) 4 is nonsingular .
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~ but not in reduced row echelon form
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10— One of the following matrices is in the row echelon form
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d)the system AX=0 has only one solution
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